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1. 3TUF ZgRT AT NS & FEdd fHT a0 HiF-d5eT 327 & U W 3w Af@a gdew & [{o
ﬁmﬁﬂmﬂmélﬁmﬂwﬁ!ﬁmmﬁ%wﬁwtw

You have been called for the written test based on the online data fumished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. W9, 80 WA & IFT G-I F T A § AR e & 3rafr 90 e )

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is
90 minutes.

3. OR Rsedl #fgd argfess gHR & g gl ot & fah ve awifed v @ wé @

The questions will be objective type with four options out of which only one will be unambiguously correct.

4. 9AF T H T 01 3 g R TAF I1e9d 3cak F AT 0.33 3F Frer SweIm|
Each question carries 01 mark and 0.33 marks will be deducted for each wrong answer.
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5. wreet i 3eaR 4 ¥ T e e ufa afed oI HTTANHR Feer-qecrent & S|
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. m;hﬁrmﬁrwaa?ﬁaq@tﬁa@mmsam- grﬁ%ﬂﬁqiéﬁmaﬁaaaﬁ’raiﬁ?amaﬁ
FeaR 1 AqA T 1

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

7 U T ¥ AT 31 Seak &1 U ATeld Seaid AT SITeT
Multiple answers for a question will be regarded as wrong answer.

8. m'm“aﬁﬁﬁqﬂama-gwa:m Y INTAHR Feax-gfem # v v TuE W o

U

Question booklet code printed on the top right corner should be writien in the OMR answer sheet in the
space provided.

9. ma-gﬁawﬁmmmwﬁa@r%@

Enter your Name and Roll Number correctly in the question booklet.

10. mmm.mﬁmqﬁmmmma:ﬁamwﬁmm|
All entries in the OMR answer sheet should be with blue/black ball point pen only.

11, wﬁmﬁwﬁﬁﬁmﬁﬁﬁ@mﬂgﬁmwmmml
You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

Computers, calculators, mobile phones and other electronic gadgets. text books, notes etc., will not
be allowed inside the written test hall.

13, ofiaw 9ot & 9T mwmm-gﬁawaﬁma?mﬁﬁﬁwémagmm
m-quﬂﬁfrwﬂﬁ&amqpfrqﬁmwﬂl

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

14, SR 3Tt 3T T T A €
The question booklet can be retained by the candidates.

15, qﬁm%mdﬁ*ﬁmmaﬁqﬁmﬁﬁaﬁﬁa@ﬁaﬁ%l
Candidates are not permitted to leave the examination hall during the first hour of the examination.
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TEARTa-A — sdFesE s / Technician-B — ELECTRONIC MECHANIC

gAFgIeid Tiehe H S=X 3TAIE FT WAfAF w1 &1 §72

What is the primary function of a Zener diode in an electronic circuit?

(a) %S geedl &1 g & T / To amplify the input voltage

®) Rad dreear @ T & fAT/ To protect against reverse voltage
(¢) UF f&R dleear G2l e = & fav / To provide a stable voltage reference
(d) ffSea offc & v 9o & &9 F F1F F&A F AT/ To act as a switch in digital B

circuits

o B R F RAgga ury yarfea gl @ ar 39F fFE yeR Ay sat dafge gl 32

What type of energy is stored by an inductor when an electric current flow through it?

(a) @R FeT / Thermal Energy (b) ATAF Fait / Mechanical Energy
ORI IGED FaT / Chemical Energy (d) ﬂ'@ﬁﬁl’ﬂ' FST / Magnetic Energy

& AT & wAE gudegd arem verd ¥ AR caet & d queer gl A g afe
e A & e W B A goen & afr § A WA/ A 3R e B fr afkar &
o Y g

Two capacitors have the same dielectric material and same separation distance between the
plates. However, Capacitor A has larger plates than Capacitor B. How do the capacitances of
Capacitor A and Capacitor B compare?

(a) 4T A &# oiRF B &1 Jelemm # 30+ aiar & / Capacitor A has higher capacitance
than Capacitor B

(b) & B & aiT A 1 gete & O+ afkar & / Capacitor B has higher capacitance
than Capacitor A

(c) &RFT A 3R eni@ B #r tnitar @#=T § / Capacitor A and Capacitor B have the same

capacitance

(d) fer av [Afese F 3R W afar #r Geol el &1 T Thdr & / The capacitance cannot

be compared based on the given inputs
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gewgiere Ofde & wwor: TMEAN ST Ziforex (BJTs) 3R ReaT-HiFrass-afdssetr Freg.
g gifoee (MOSFETS) aaﬁvﬁﬁmwaﬁa;rm%?

In electronic circuits, what is the mode of control for Bipolar Junction Transistors (BJTs) nnd
Metal-Oxide-Semiconductor Field-Effect Transistors (MOSFETS), respectively?

(@) BJT aleear-@4fa gid & 9 i MOSFETs ¢RI-SRf3a @1 & / BITs are voltage

controlled while MOSFETs are current-controlled

(b) BJT 4R-frif3d g & 59 &% MOSFETS AeTALTRIFT &3 & / BITs are current
controlled while MOSFETs are voltage-controlled

(© BJT 3R MOSFETs 2wt dleedl-fA2™a & / Both BJTs and MOSFETs are voltage

controlled

(d BJT IR MOSFETs art TAAW-AGT ¥ / Both BJTs and MOSFETs are current
controlled

gl aedt # gHE AR 7 ki
What does "hermetic sealing" of electronic components means?

(a) Whruﬂwm#amﬁr*ﬁvwa@mﬁaﬂ?aﬁr-q\tﬁmmfcreatingan

airtight and moisture-proof seal to protect from environmental factors

(b) weHi F e armewar # UUR 1 & 8™ / A method of improving electrical

conductivity in components

© WU F Iy F QAT JWIeAF T T T YRFIT / The process of applying

protective coatings to prevent corrosion

(d) 9FH a7 IUeTT F AU geat # afir gewar a@x 61T / Enhancing the thermal

conductivity of components for better heat dissipation

uzb-Acaﬁzﬁ,w#mﬁaﬁloon#mwwoOhmsﬁgﬁmm%laﬁsw
mnﬁ?ﬁaﬁﬁ?raaﬁwzoommammmuﬁamwm

In an AC circuit, a capacitor has an impedance of 100 ohms at a frequency of 100 Hz. What
will be the impedance of the same capacitor if the frequency is doubled to 200 Hz?

(a) 100 ohms : (b) 200 ohms
(¢} 50 ohms (d) 25 ohms

Wﬁﬁwm#mmmwﬁ

What is reflow soldering process in electronics manufacturing?

@ ARG wfbe M (PCB) #F 3R 2 3K T & T/ To shape and form the Printed
-Circuit Board (PCB)

(b) Y-BYT HTH F g faega daer s=6r & T / To create an electrical connection between

through-hole components
(c) PCB WX w= YRIcA® HfET s F v /70 apply a protective coating to the PCB

() PCB W §IBG-ATST Fulicy (SMDs) # wlesT A & fAT / To solder Surface-Mount
Components (SMDs) onto the PCB
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81200 5 BT wrafAew $uol AT U gEeER 240V AC Rega da & 31 81 gfadew dEw
A 120 gATE 1 I TEEHET 100% BT §, @ gfacias e ) g deear Fm §?

A transformer with a primary coil of 1200 turns is connected to a 240V AC power source. The
secondary coil has 120 turns. If the transformer is 100% efficient, what is the voltage output
on the secondary side?

(1) 24V AC (b) 24V AC

(¢) 240V AC (d) 2400V AC

9. 0dBm & GAJed AP FH FAT §7?
What is the power level equivalent to 0 dBm?
(a) 1mW (b) 10 mW
(¢) 100 mW @ 1w

10. 9% Fa-wag &, afe J 3R & &t soqe 3o (8% 1) & 3R of e @ 3w & oRefda
gidl &, Y g IaT & g1 [Pav-rarg fr g fufa Q Far 8efe

In a JK flip-flop, if both J and K inputs are high (logic 1), and the clock transitions from low to
j high, what will be the output state Q of the flip-flop after the clock transition?

(8) Q Tt HT / Q will toggle

(b) Q, 0 9 VT g AT / Q will be set to 0

(© Q 19T AT & HAm / Q will be set to 1

() Q Roe Bafd & ¥AE WM / Q is same as the previous state

11. TF guF F3el A IR Favsaia gid & v wdsr F o7 e fufy & @ar & @ wah
- 0 W @ @I & IR T® FER 1 MHz 1 sgfed a ifdeer & 37 8 A
FI5EY H I T wafad Uil ¥ e AR fe U F avw e F Reaer e
Fqa?

A decade counter consists of four flip-flops and is initially in the reset state, where all flip-flops
are set to 0. If this counter is connected to an oscillator with a frequency of 1 MHz, how long
will it take for the counter to go through all its possible states and return to the reset state?

e (a) 1 AEHAFS / 1 microsecond (b) 10 ABFADS / 10 microseconds
(¢ 1 FAe@%s / 1 millisecond (d) 10 M¥%s / 10 milliseconds

. 12. VWA AT & H§g7 #§ "N ey e a7 A7 22

What does the term "gauge factor" represent in the context of strain gauges?

(a) ¥ IS T AHIA UTiH / The temperature coefficient of the strain gauge

(b) HRESH foFfa & 9fd R 15 H H@IGTMFAT / The sensitivity of the strain gauge to

mechanical strain
() FT IS 1 A F UTAIAY / The resistance of the strain gauge in ohms

(d) ¥ A $ ARAAOT FEFAr / The manufacturing tolerance of the strain gauge

A 5 1489




13.

14.

15.

16.

4:1 AedoFTY #, & H9F U A, B, C 3T D afde gl ax 31 @Afase @ §, 3
S1(MSB) HX SO(LSB) afaw arelr & giver Famor aiget &, & gfdar @g=er @Afase (S0 3R
S1) &I ®iT AT TAoA BT & &7 7 Afase o C &1 937 &?

In a 4 :1 multiplexer, if you have four data input lines labelled A, B, C and D, and two select
control lines labelled S1(MSB) and SO(LSB), which combination of select control inputs
(SO and S1) will select input line C as the output?

() S1=0,S0=0 () S1=1,80=1
(¢) S1=0,80=1 (d S1=1,80=0

fagga aRuy & ELCB & yruids & #ar g7

What is the primary function of an EL.CB in an electrical circuit?

(a) 3NaT T qEw % f&d / To protect against overcurrent conditions

(b) ¢ T ikl % ol / To protect against short circuits

{c) 31;—1‘!"1?5»71' qT A3 e # fAT / To protect against earth leakage or ground faults
(d) deeaT ¥ 3ar-derd ! RFAIAT F& & T / To regulate voltage fluctuations

TEd a3t ADC YR Fie @1 §7
Which is the fastest ADC type?
(a) HFEP FfeadesT ADC [ Successive Approximation ADC

(b) aEd Getet ADC / Dual Slope ADC
(c) Faer ADC / Flash ADC
(d) T@9#T 3%¢r ADC / Sigma Delta ADC

wF s wfee ¥, {ts affe (10) & Rore i R & o W aw i el
&1 JTUfRS 30 &4 §?

In an electronic circuit, what is the primary purpose of a decoupling capacitor placed near the
power supply pins of an Integrated Circuit (IC)?

(a) TRfase areear # 6= F foT / To amplify the incoming voltage

(b AC Taerer 1 3HaUYT Fl 3T DC {7 A 9@ aR= & fA¢ / To block AC signals and
pass DC signals

() IC Wﬁ@:ﬁma'?@'ﬂ'WWWWW*%U/TOpmvideadirect

connection between the IC and the power source

@ IC ¥ deear # R =R AN 329 Imgfed FAgpfa #r fMheet A & AT/ To stabilize
the voltage supplied to the IC and filter out high-frequency noise
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18.

19.

20.

21

Heg 3Mgicd THYAHERR & AT 3AAR W 59 gsR &1 giforeex famay &1 39aer fen
ST 82

Which type of transistor configuration is usually used for audio frequency amplifier?
(a) WA 3c8a% / Common Emitter ) HIAFT Folaed / Common Collector
() HHEEI HATYR / Common Base (d) @5 AL / None

IAE & AT PIV oeg By Heffa +iar &2
What does the term PIV for a diode refer to?

(a) 39 greedar 1 &TAAT / Forward voltage withstanding capability
(b) 99 dlecar @ &7 AT / Reverse voltage withstanding capability
(¢) T YRT &Y &TAAT / Forward current withstanding capability
(d) ‘W'ﬁq HIRT &7 &FT / Reverse current withstanding capability

PNP giforey &, & a ags 39 &

In a PNP transistor, majority current carriers are:

(a) ATEY T / Acceptor ions (b)  &rdaT 3T / Donor ions
(¢) B / Holes (d) HFd goiFei / Free electrons
BC 147 "<& ¢
BC 147 component is a
(a) ST / Diode (b)  EIfSFET / Transistor
(¢) SCR (d MOSFET
# SI gF1E DA meter!
The SI unit of —————— is siemen meter-1.
(a) wfAEr / Resistance (b)  WTARIUHAT / Resistivity
(¢) el / Conductance (&) TGrFHar / Conductivity

220 Q, 5% AgAMATT HR & AT T FIg FAT &2

What is the color code for a 220 Q, 5% tolerance resistor?

(a) W, 9T, 3, VAT / Red, Red, Brown, Gold

(b) <N, AREN, Frem, IEr / Orange, Orange, Black, Gold
(¢c) e, ®Tel, e, FiGy / Red, Red, Black, Silver

(d) <N, ARER, @, GEr / Orange, Orange, Black, Silver

7 1489



23. TF 3UFIOT 100 mA R & WY 48 V Hqfd q@mr Hanfard e &1 afe 39awor gawr gaie
% 3wl e AR 1.5 W o S & w7 F Rraeh fasre walE g 22

A device is powered by a 48 V supply with 100 mA current. How much power is wasted as Imn.
if the useful output power provided by the device is 1.5 W?

(@ 15W (b) 33W
(0 63W (d 21W

24. Wmm;ﬁmﬁﬁmﬁﬁaﬁﬁ#mmm#aamwé.l
3cHIH ORI §, Ic HUEF GRT &)

In a common emitter transistor, which of the following is true? (I is the base current, Ig is the
emitter current, Ic is the collector current)

@ Ic=Is+1Is b Ic=Ig—1Is
(© Ie=Is-1Ig (d Is=Ig+1Ic

25. fayg &7 @ WOF afiwy #,
In a purely inductive circuit,

(2) dleedl ORT & 90° A A gt & / voltage leads current by 90°
(b) ®IRT Feear ¥ 90° T HITHA & /current leads voltage by 90°

(c) Treear 4 | 90° 9 ® / voltage lags current by 90°

(d) aYeear 3R aRT TAET & (0°) # & / voltage and current are in phase (0°)

26. witold Fithe &1 WETa Y &= &2

What is output Y of the logic circuit?

: | —

(a) A+B+C b A+B+C
¢y A+B+C (d) A+B+C

A 8 1489



29.

30.

29.

Ww%aWAmBimﬁﬁan%ﬁﬁwmmﬁﬁﬁaY
F o &1 o aféee &

The given figure shows the waveforms of two inputs A and B and that for the output Y of a
logic circuit. The logie circuit is:

(A) |
1 ] .
(o] T T: T T t
(B) i
—d
o T T: T T t
' (¥) i
0 T, Tz Ty .t
(a) AND 3T / gate (b) ORI/ gate
(¢) NAND AT/ gate (d) NORWMT/gate

gfE v AN tradleRR &1 fARdr aeear o 3R 3aafese A1 dlecar ATH A 48 dB
AR 2dB B, o s 33Efass A IEHA eI e

If the differential voltage gain & the common mode voltage gain of a differential amplifier are
48 dB and 2 dB respectively, then its common mode rejection ratio is

(a) 24dB (by 96dB
(¢ 46dB (d) 50dB

A e # 3es YRR R, & H1A # aRade

A change in the value of the emitter resistance R, in a Difference Amplifier
(a) FHoX A1 A A, F Tsniad FT ¢/ Affects the difference mode gain Ay

(b) 3HTTASS A W A, B yHfAT FAT § / Affects the common mode gain A,
(¢ T Ty wIar § Ay 3T A,/ Affects both A, and 4,
@ A, 3R A e #1 o wenfde s€l FXaT § / Does not affect either A; and A,

afe AM SEROT TERE #, 1000 kHz a6F F gfed 17 100-5000 Hz & seq f{7erel Z@RT
Atggere B S §, & kHz & dae d 4 =@isg ¥4 §7

If in an AM broadcasting studio, a 1000 kHz carrier is modulated by an audio signal of
frequency range 100-5000 Hz, what is the band width of the channel in kHz

(a) 5kHz (b) 4.9kHz
{c) 995 kHz (d) 10kH=z
9 1489



31

32.

33.

34.

35.

36.

'The pulse width in a 555 timer based monostable multivibrator is given by

30MHz£raTq%ra?ﬁvaéa®TaﬁgmdamaﬁTﬁm§wﬁ
Find the length of a half wave dipole antenna for a frequency of 30 MHz
(a) 5m (b) 10m

() 20m (d 50m

wwaﬂuaaﬁaﬁqﬁgﬂéméwﬁwwnﬂfmmqﬁ#saﬁéméﬁ
4pF/m%|$ﬁﬂEﬁf3®ﬁm9ﬁWﬂT%‘?

A coaxial cable has an inductance per unit length of 10 nH/m and a capacitance puer |
length of 4 pF/m. What is the characteristic impedance of the cable?

(a) 2.5ohms (b) 50 chms
(¢) 75 ohms (d) 250 ochms

555 mmmﬁﬁwﬁmmmmaﬁm

(a) 0.69RC {b) 1.1 RC

(¢ 138RC @ RC
az-ﬁﬁwaﬁﬁﬁzwmmwmmwﬁﬁwmmm%laﬁ#
T# AND e ¥l g0 § ———— <

A Half adder can be constructed using two 2-input logic gates. One of them is an AND ¢l
The other is ———— gate.

(a) OR (b) NAND

(¢ XOR (@ XNOR
eﬁrﬁwmwaﬁﬁmﬂtﬁ———mﬁﬁwmama
A logic gate with 6 inputs can have ——— possible input combinations.
(a) 8 ) 16

(© 32 (d 64

aﬁwdﬁmﬁmuﬁamwmwmﬁ,mﬁﬁ
AT F Voo = + Ve T L= OmA (e973797) &effam St &, o giforeex & FaTee F &N
X
If in a transistor Common Emitter configuration based switching circuit, the collector

emitter voltage Vee = + Vec and L. = OmA (approx), what is the region of operation of {
transistor?

(a) it / Saturation (b) WA / Active
(© F-HP [ Cut-off () 3I9Fd # ¥ F1$ FE / None of the above
(21.125)10 T Efa3mend #13 §
The binary code of (21.125)10 is
(a) 10101.001 (b) 10100.001
(c) 10101.010 (d) 10100.111
10



48, g 1 3t 2 & PR wfee & wais &1 qa a1 82

39.

40.

41.

A2.

What is the formula for time constant of the following circuits in Figures 1 and 27

- . vy -
.;;I “ AR ,_._._1
& ir

2

L g .l"“ C;q Li'y

Figure 1 Figure 2
(a) RL, CR () RL,RC
(¢ I/R,RC (d) RL,R/C

& LVDT # srufis 3R s siee & dear o §

The number of primary and secondary coils in an LVDT are

(@ 1,1 ® 1,2

© 21 @ 22

R M e FsaTaa R RTFINFar A F ————— % F ——%
% 9o F w9 O §AY & & & qRenRa fear = gl

Rise time of any circuit are defined as the time taken for the Output to rise from ———%
to ——————— % of the maximum value.

(a) 20,80 (b) 30, 70

© 5,95 (d 10,90

"RpeeX # 0 ¥ 10 MHz 3R 20 MHz ¥ 3=id 3mafeq o smgfeaal 1 s e g1 afx
frdt freet 7 SWIFd ARSean’t & o Bosa R a6 & O FE @R F e |
wrufRear & et

“Rilter has to reject frequencies from 0 to 10 MHz and 20 MHz to infinite frequency”. If a filter
has to be designed with the above specifications, what type of filter shall be preferred?

(a) A& 9 Tee / Low pass filters (b) d% urg e / Band pass filter
(¢ s Roae fheet / Band reject filter  (d)  3=9 urd f%eet/ High pass filter

ofy e o Reeex # AT IHTF 60 dB/EE & awdhar § a ey o1 #ATH FH 40
glerr =nfge?

If a Roll off of —60 dB/ decade is required in High pass filter what should be the minimum
order of the filter

(a 1 (b)y 2
() 3 d 4
11 1489 _




43.

44.

45.

46.

48.

" @Y T T §

‘(a) §7& / Increase

mswwwmqﬁaaﬁumﬁmm%?

A Megger is a device used for measuring
(a) 3%u diecar / High Voltages (b) 3Ta ¢ /High Currents
() 3= aiiar / High Capacitance (&) 3T 9/ High Resistance

OPAMP & zad gufe aX Al Sl &
Slew rate of an OPAMP is measured in

(a) V/ps (b) mV/ius
() mV/s () mV/ms

ﬁagamﬁﬁﬁwﬂwmﬁﬁmm%wwwmmmwﬁaﬁmm

The ability of a power supply to maintain a constant output voltage despite variation in th@
input voltage is termed as

(a) < R3fAgHsr / Shunt regulation (b) HEGT faTFeT / Series regulation
(¢ sa fafasA / Line regulation () @13 RATA / Load regulation

wﬁamﬁammﬁ%mﬁamﬁ.éﬁﬁﬁ:ﬁaaﬁmm&;ﬁ@*ﬂﬂaw

(Ton/T) & TFET TFHA ——— S Bhc 1) )
In a typical switching regulator configuration, the duty cycle of the transistor’'s buang
waveform(Ten/T) will ———— as the output voltage decreases.

(b) FHT / Decrease
(@ 1% aRkade @& / No change
(d) 3}!?[ agFT q E HET 78T / No relation with duty cycle

aﬁﬁwﬁaﬁzﬁﬁﬂaﬁﬁw%m%m@maﬁaﬁwﬁmm%

If in a particular circuit the output is proportional to the slope of the input, the circuit is called

(a) gé1ieT | Integrator (b) &da / Clipper
() FAFI / Clamper (@ faRE® / Differentiator

Wtﬁaaf(t)ua?wmﬂ%aﬁ(t)aamﬂﬂwﬁa:ﬁv

A function f(¢) is an even function if for all values of (£}

(@ f@E)=f(=1t) ®  f(t)=-f)
© f&)=Ft+T/2) @  fO)=-ft+T/2)
12 L




A4

50.

51.

52.

fostell grawER 7 ycds ATAATT & AU T gHE @ FHAS AfHANCT dig & R & 354
et w7 w1 F fav B arar g2

Laminated iron cores with each lamination insulated from one another are used in power
transformers to reduce

(a) feEeREw GERI] / hysteresis losses (b)  HET-UNT AHHA ! eddy current losses
(c) & $r &fd / copper losses (d) woIFT g1 / flux losses

e HifAeer # gAY aRy 1% Fariens yAfHAder gar war &1 PR e Jee &R
¥ T Foa HHifAAET F UAERR & AT HOTF FaH T P

Feedback network of a certain oscillator provides 1% positive feedback. The minimum gain
required for the amplifier section of the said oscillator to provide sustained oscillations is

(@ 1 ® 10
(c) 100 (d 0.01

TR & Faed IR Rreed & @R & v naalk v e Sifs e F1o39Eer
forar sivar &7

Which coding scheme is commonly used for representing characters and symbols in
computers?

(a) ASCII (b) TCP/P
(¢ URL (d) HTTP

ITa-a1fa 2e7 GOeoT F QNS Hhaa &1 3YANT FIA BT WATHE S FAqT §7?

What is the primary advantage of using differential signaling in high-speed data
transmission?

(a) 3T ser &Y/ Higher data rate

(by Tow=T faega qFaH safaasuT/ Reduced electromagnetic interference
(c) T ™sel $r @IT/ Lower power consumption

(d) T Adhd YHHUT/ Easier signal processing

gforgsr draerfera #, wideafda A+ B &1 (& 1 §?

In Boolean algebra, what is the complement of the expression A + B?

(a) AB () A+B
(¢ AB d A+B
13 1489
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54.

55.

56.

57.

58.

FM@W%ﬁmmﬁhwﬁaﬂaWﬁmmaﬁammmﬁmmﬂ

Which part of the electromagnetic spectrum is commonly used for FM radio broadecast iy’

(a) S&%/band

® C d% / band
(¢0 HF @9 mﬁ‘iﬁD/HF (High Frequency)
@ VHF (9§ 337 sigfea) / (Very High Frequency)

wm&aﬁmmg‘maﬁu

An ideal voltage source should have

(a) TAarF® FE Ao | Large value of e.m.f.

(b) Fa.arE® over #Ed/ Small value of e.m.f.
€ WI BT AT/ Zero source resistance

(d FaAd g 9faer / Infinite source resistance

mﬁaﬁm%m@aﬂﬁmwa:ﬁmmoofazqﬁm(bps)wmm
mﬁ%ﬁvwwwﬂ?aﬁrﬁa‘émm

What is the minimum bandwidth required to transmit a digital signal at 2400 bits per s¢cd
(bps) without distortion according to the Nyquist theorem?

(a) 1200 Hz (b) 2400 Hz
(c) 4800 Hz (@ 9600 Hz

ﬁmﬁ#ﬁﬁﬁﬂmﬂ?mmﬂéﬁmaﬁammww

The forbidden energy gap between valence band and conduction band will be least in casu of’

y
|

(a) O/ Metals (b) eTarerd / Semiconductors
() FrerR/ Insulators (d) IR |3t / All of the above

IOkQ%W(R)WlOOnFﬁW(C)WWRCW@IWW
T 87

What is the cutoff frequency of a low-pass RC filter with a resistance (R) of 10 kQ andl
capacitance (C) of 100 nF?

(a) 1.59 Hz b 159 Hz
© 159kHz @ 1590 kHz
14 _ i4




59. JFET &1 R 1 58% 6Aded Aihe & Fa 3ed &7 & golfdr 1 @l &
The action of JFET in its equivalent circuit can best be represented as a
(a) oRT fafa ary Wi / Current controlled Current source
(b) &RT AT areear Wd / Current controlled Voltage source
(¢) dreear IR deear Hd / Voltage controlled Voltage source
(d) deear I aRT A/ Voltage controlled Current source

60. Ioa Fgfeaal Ut EfAydr SO T URT o1 & FA G FT FROT ¢
The current gain of a bipolar transistor drops at high frequencies because of
(a) erfaFeX unfiidr/ Transistor capacitances
(b) 3THR # 3TH YRT &1 Y99 / High current effects in the base
(¢) 3mETea WO d@¢d/ Parasitic inductive elements
(d) YRTRF UG/ The early effect

61. T & 9Ruy # yfaowm R iR sas D w1 1 ¢

In the circuit of figure the function of resistor R and diode D are

B l%jﬂ
-------- D
5

(a) URT A WAT F= 3 LED & Fioaeear O g9 & T/ to limit the current and to
protect LED against over voltage

(b) drecar B DAFT 7= 3 LED F AT-URT & 997 & AT/ to limit the voltage and to
protect LED against over current

© T @ AFAT e 3 LED 1 99 $ST diecarl § 99 & AT/ to limit the current

and protect LED against reverse breakdown voltage

(d 3TFT H § NS 7T/ none of the above

s

62. 3 afey U foer 3aaT faegen: HEOR & fAw fRar snar &
High gain antenna used for point to point communication
(a) T2 T&EAT / Dipole antenna
(b) et TEAT/ Yagi antenna
(¢) YIgwfAE UEAT/ Parabolic antenna
(d) wafeeeAs® UEIAT/ Omnidirectional antenna

A 13 1489 -




63.

64.

65.

66.

67.

68.

69.

]

aﬁAMWEﬁrWEHHTSB.%%%,HTSSB-SCEﬁTan[T-ITEFZIT%?

If the maximum efficiency of an AM transmission is 33.33%, what is the efficiency of SS13-50

(a)
(©)

600deg0ﬁmﬁﬁmaﬁmﬁ$%@,ﬁmﬁﬁﬁﬁﬁﬁmm§mH'I'I

&l
To

50%
70%

UL R Sar 87

measure high temperature in the range of 600 degC, which of the following m

RTD is used?

(@
(0

oot / Nickel
wdfeaA / Platinum

(b)
(d)

b
@

66.6%
100%

arsr/ Copper
AT/ Gold

%mﬁ@aﬁﬂﬁﬂmmﬁmﬁmﬁmﬁaﬁm

Which of the following block is not available in a microprocessor?

(a) ALU (b RAM

(c) TFSEeT / Registers (@  faeor 5% / Control Unit
soslnsaﬂé@mﬁ.ﬁmﬁﬁaﬁﬁammﬁwmmmm?awé{ﬂ
# frar e 82

In a 8051 microcontroller, which of the following port is used as a multiplexed address and
data bus?

(a) W/ Port0 () 9E/Portl

(¢) TWE/Port2 (d) W&/ Port3

AM T FIEe G e @y feam s &7

Modulation Index of AM is given by

(© Ve+Vm)/Vm (d (Ve—Vm)Ve

uﬁuriazs&ﬁ:ﬂﬁawﬁﬁsﬁgu%,#ratm%

If five 25 nF capacitors are connected in parallel, the net ca

(@)
(c)

Ify @ARse wdr 10Vrms%,mmmm$mwmﬂaﬁm%

If the input ac is 10 V rms, the maximum voltage that will appear across the diode of a hall

100 pF
5 uF

wave rectifier is

(a)
©

10V
20V

(b)
(@

(b)
(d)

16

125 pF
25 uF

141V
282V

pacitance is

etal basod

X
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T1.

72.

73.

74.

FoFClady H FAF Afee & WAfAS 3097 7 §7

What is the primary purpose of a clamper circuit in electronics?

(a) DC aieest #f AC dlees & aRafdd aa & T/ To convert DC voltage to AC voltage
(b) HHASIR Hehcll & & & {AT/ To amplify weak signals

(00 T7Fda & DC T H WRIERT #l= & ol / To shift the DC level of a signal

(d) T T AT IcqesT P F ToT/ To generate square wave signals

o &) Fsforar wawt g @l § AR ve F3w A uRr F giy ¥ q@y FI9 & ARA 3o
grar &, oY i A1 Uwsg 39 weEen H ol aar §7?

When two coils are tightly coupled and an increase in current in one coil induces a voltage in
the other coil, what term describes this phenomenon?

(a) F-W&Hcqa / Self-inductance (b) AT 9&ca / Mutual induetance
(c) TIHAT & / Coupling factor (d)y 9faEmem/ Impedance

fheey & T # AeAlaf@d & § i o A T8y &7

Which one of the following statements regarding filters is correct?

(a) FeE@y wfafar 7 &g 3ige &/ Butterworth response has a sharp cut-off

(b)y =T wfafeear 61 aA-ds & v e 9iafFar § / Chebyshev response has a flat

response in the pass band

(¢) werad yfafear & gu-ds & FFFC § / Butterworth response has ripples in the pass
band

(d =T gfafpar & adz F T & / Chebyshev response has ripples in the pass
band

Ife v FuRa ¢ & 3uREfdad urr 1 ganr 3mafa fear Siar &, @Y ¥99 & @1y diecan
gRads & & 50 TR & Sl §

If a capacitor C is charged by a constant current I, then the rate of change of voltage with time
is given by

(a) C by IC
¢y I/C (@ I/2C)

It fordlr wifors IE 1 3M3eqe “17 8, o9 38F @l Pfdse affas 0 wg ardeararg
If the output of a logic gate is “1” when all its inputs are at logic “0”, the gate is either

{a) U&%H NAND AT T NOR/a NAND or a NOR

(b) U AND T Th X-NOR/ an AND or an X-NOR

{(c) U&H OR AT Tsh NAND /an OR or a NAND

(d) T X-OR AT T X-NOR/ an X-OR or an X-NOR
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75.

76.

77.

78.

79.

80.

aﬁ5mwmﬁ8%ﬁﬁwm%‘,ﬁ4mwmﬁ%ﬁﬁﬁﬁw
T 7

1f 5 men complete a work in 8 days, in how many days can 4 men complete the same work?
(a) 10

b 9

) 6
(@ T I e ¥ @ gaT Fe1 ey S AT ¥ / Cannot be found out with given data

wiems A (3+4i)m(—2—5i)$mﬁmﬁ,aﬁ‘i’mqﬁ$sﬂ§ﬂ
gyt & ¢l

Calculate the product of the complex numbers (3 + 4i) and (-2 —5i), where 4 represents the
imaginary unit.

() —26-23i ®)
(c) 26 + 231 (d)
Wﬁx+y=0m2x-—y:9ﬁumﬁ§ﬁmﬁml

Find the point of intersection of ines x +y = 0and 2x—y=9?

14-T
14 — 231

(@ ,-3) b @249
() (3,3 @ 2,49
cos (315°) &1 A AT e
Find the value of cos (315°%)?

1 1
(a) 71 ® 5

1 -1

fr FRdy wor &l R g x=e” %mm%,efrmt-owwmawmg?

If displacement of a particle is given by x = ¢* , then what is the particle velocity at time - 07

(@ 1 b 3
1
(c) 3 @ O

mmmmea?ﬁv,a%sin(a):o.e, cos(6) 1 AT FAT 82 |
For a given angle 8, if sin(@) = 0.6 , what is the value of cos(8)?

(a) 0.4 (b)y 06
© 08 (@ -04
18 . 14H




